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QUESTION 1

You are configuring OSPF and want to ensure that interface ge-0/0/3 is preferred over interface ge-0/0/4.
Which statement is correct in this scenario?

A. Configure ge-0/0/3 with a higher metric.

B. Configure reference bandwidth.

C. Configure a redistribution policy.

D. Configure ge-0/0/4 with a higher metric.

Correct Answer: D

QUESTION 2

Click the Exhibit button.

M\ Exhibit

Route MED Origin Code Local Preference
A 10 | 50
B 0 ? 150
C 20 £ 100
D 10 I 150

A routing table contains multiple BGP routes to the same destination prefix. The route preference is the same for each
route.

Referring to the exhibit, which route would be selected?
A. route B
B. route D
C. route A
D. route C

Correct Answer: B
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QUESTION 3

Which statement is true about IP-IP tunnels?

A. The time-to-live value of the original packet Is decremented.

B. IP-IP tunnels are protocol agnostic.

C. The packet is encapsulated unchanged before entering the tunnel
D. The packet header is replaced before entering the tunnel

Correct Answer: C

QUESTION 4

You have configured storm control on your network devices. Your network has grown and you no longer have time to
investigate each occurrence of a storm control violation. You want to enable a port to automatically be re-enabled after a
storm violation. In this scenario, which Junos OS configuration timeout would accomplish this task?

A. Configure the secure access port timeout.

B. Configure the port error disable timeout.

C. Configure the BPDU blocking timeout.

D. Configure the MAG aging table timeout.

Correct Answer: B

QUESTION 5

Click the Exhibit button.
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[edit protocols bgp]
userfrouter# show
import add-community;
export next-hop-self;
group ISPs {
type external;
import local-pref;
export adv-aggregate;
neighbor 172.30.1.1 {
peer—as 65100;
}
neighbor 172.30.2.1 {
export adv-custom;
peer—as 65200;

}

group Internal-Peers {
type internal;
neighbor 192.168.110.10;
neighbeor 192.168.110.20;

Which statement is true about the configuration shown in the exhibit?
A. Only the next-hop-self export policy will be evaluated when routes are sent to neighbor 172.30.1.1.

B. Both the adv-aggregate and adv-custom export policies will be evaluated when routes are sent to neighbor
172.30.2.1.

C. Both the adv-aggregate and next-hop-self export policies will be evaluated when routes are sent to neighbor
172.30.1.1.

D. Only the adv-custom export policy will be evaluated when routes are sent to neighbor 172.30.2.1.

Correct Answer: D

QUESTION 6

What are three valid BGP message types? (Choose three.)
A. refresh

B. hello

C. database descriptor
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D. keepalive
E. update

Correct Answer: ADE

QUESTION 7

What is a characteristic of OSPF ASBRs?

A. ASBRs transmit routing information between the backbone and other areas.
B. ASBRs cannot be part of the backbone and another area at the same time.
C. ASBRs inject routing information from outside the OSPF domain.

D. ASBRs link two OSPF areas.

Correct Answer: C

QUESTION 8

You have an IBGP neighbor sending you routes. You need to apply a policy so it only evaluates routes being learned
from this specific neighbor.

In this scenario, which statement is correct about applying the policy?

A. The policy should be applied as an export policy to the BGP group level.

B. The policy should be applied as an import policy to the BGP group level.

C. The policy should be applied as an export policy to the BGP neighbor level.
D. The policy should be applied as an import policy to the BGP neighbor level.

Correct Answer: D

QUESTION 9

Which two statements are true regarding RIB groups? (Choose two.)

A. The first table listed is the primary route table and determines the address family of the RIB group.
B. The last table listed is the primary route table and determines the address family of the RIB group.
C. A RIB group must contain one or more export-rib statements.

D. A RIB group must contain one or more import-rib statements.

Correct Answer: AD
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QUESTION 10

Which two statements about Layer 2 firewall filters are correct? (Choose two.)
A. You can apply only one firewall filter term per filter.

B. You can apply only one input filter per VLAN.

C. You can apply multiple firewall filter terms per filter.

D. You can apply multiple input filters per VLAN.

Correct Answer: BC

QUESTION 11
Click the Exhibit button.

You are implementing the network shown in the exhibit. You must ensure that all users can communicate with each
other.

What are three steps that should be taken in this scenario? (Choose three.)

A. You must specify the appropriate Layer 3 IRB interface under each VLAN.

B. You must define all ports as trunk ports and include all VLANs as members.

C. You must define all ports as access ports and include the appropriate VLAN as a member.

D. You must configure a single logical IRB interface with an IP address for each of the three networks.

E. You must create a unique logical IRB interface for each network and assign an IP address within the appropriate
network.

Correct Answer: ACE

QUESTION 12

You have an OSPF NSSA area that is also receiving I1S-IS routes on the ASBR.
In this scenario, which LSA type is used to announce external IS-1S routes?

A. Type 7

B. Type 8

C.Typel

D. Type 4

Correct Answer: A
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QUESTION 13

Click the Exhibit button.

-
ge-0/0/1 \[ A N

Your company has connections to two ISPs. Each ISP is in a separate routing instance. You need to advertise the
0.0.0.0/0 prefix from both ISPs to all your devices.

Referring to the exhibit, which statement is true in this scenario?

A. You must create and apply match input filters on interfaces ge-0/0/2 and ge-0/0/3.
B. You must create a policy to allow traffic from your network to each ISP.

C. You must create an internal routing instance for your network.

D. You must create a RIB group to share interface routes.

Correct Answer: D

QUESTION 14

Which two statements about aggregate routes in the Junos OS are correct? (Choose two.)
A. An aggregate route has a default next hop of an IP address.

B. An aggregate route always shows as active in the routing table.

C. An active route can contribute only to a single aggregate route.

D. Only one aggregate route can be configured for each destination prefix.

Correct Answer: CD

QUESTION 15
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You are concerned that someone from outside the company could use an open conference room port to access the
network.

Which feature should you use to address this concern?
A. persistent MAC learning

B. 802.1X

C. DHCP snooping

D. MAC limiting

Correct Answer: B
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